A=6
B=7

C=5
D=3
E=0

F=18
G=15

Ziel

N50°53.286

E013°01.476

Gehe zu:

N50°53.(B-C) (F-10) (A)

E013°01.(F-G+1) (B) (A)
Also:

N50°.53. ___ ___ ___

E013°.01. ___ ___ ___

	Gehe zu:
N50°53.(B-C) (F-10) (A)

E013°01.( F-G+1) (B) (A)
Also:

N50°.53. ___ ___ ___

E013°.01. ___ ___ ___


	Gehe zu:
N50°53.(B-C) (F-10) (A)

E013°01.( F-G+1) (B) (A)
Also:

N50°.53. ___ ___ ___

E013°.01. ___ ___ ___


	Gehe zu:
N50°53.(B-C) (F-10) (A)

E013°01.( F-G+1C) (B) (A)
Also:

N50°.53. ___ ___ ___

E013°.01. ___ ___ ___


	Gehe zu:
N50°53.(B-C) (F-10) (A)

E013°01.( F-G+1) (B) (A)
Also:

N50°.53. ___ ___ ___

E013°.01. ___ ___ ___




